Reading
Has - doesn’t have

© He has
rl ir. d t = t
° She doesn_‘? have curly hair oesn’t = does no

This is Danny. He has
curly hair and hrown

eyes. _|

This is Cmma. She has
long havr und brown
eyes.

= This is Henry. He This is Mary_ She
doesn’t have long hair doesn't have rurly hair
He has short hair and She has straight hair
green eyes. and blue eyes.

—

el Match and choose

comprehension

He is He _ long hair.
o has J edoesn'thnve J
She is She _ long hair and

brown eyes.

o has J edoesn't have J
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Has - doesn’t have

Match and choose
comprehension

She is

He is

She curly brown hair.
She has straigth hair.

O 1o | ©doesnthave J

—

He curly hair and
brown eyes.

o has edoesn't huveJ

Is it true or false?

1. Mary has long hair. @ @
2. Danny doesn’t have h
short hait &S
3. Emma doesn’t have . :
brown eyes. @ @

4, :f;sr?( has green @ @

| 5. Emma has dark hair. @ @
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